PC

2210990182-6

2003 2 21



OpenMP

SCore

ICCG



OPENMP ... 3

2256 O PP SURRSTI 3
2.2. P et e et e e e e e e nnes 3
225 7SSOSR 5
A T O o =1 o ] 1 | S 6
2.3, 0. OPENMMIP e 6
........................................................................ 8

304 PR SURPTI 8
307 PSR SPRRSTR 9
35 7SSOSR 11
1 70 701 PP 11
0 SO SSTR 11
20 75 7 PP 15
3.3.4. PP TP PPN 17

G 70 78 7P 17
3.35. LU DL e 19
20 1 7SRO 20
3.3.7. ICCG ittt et e e e e naeeaneen 21
3 SRR 22
3 USSR 22
3 OSSPSR 23
38 RSSO 24
T SRRSO 25
.......................................................................... 25
TP UPPPTTRUP 25
B . e e et e et e e rae e nneeeannes 25
0 SRR 28
B et — et e et e ettt et e e e nte e e ne e e e teeeanaeeenneeeennes 30
........................................................................................................................ 30
.................................................................................................................................... 31
............................................................................................................................. 32

A 3 33

B 44



1 PC

2 SCore

3 fork-join
4

© 00 N O O

A W N P



2002 4

[12]

PC PC
PC NASA Beowulf PC
RWCP
SCore PC

[1]
16 PC  Myrinet Myrinet2000 Ethernet 100Base-TX
PC SCore PC



PC

OpenMP



2. OpenMP

2.1. PC
PC PC
PC 1
PC PC 2 8 PC
PC
PC
PC
100M Ethernet Gigabit Ethernet  Myrinet PC
PC
20 TOP500
Linux NetworX PC 5 PC
[L1[71[81[°]
2.2. PC
PC Server Host 1 Compute Host 16
2 PC PC Myrinet
Myrinet2000 Ethernet 100Base-TX
Gbit/s
9 sec
Pentium  500MHz ¢
SDRAM 512MB - -
HDD 13GB Myrinet Switch
¢ Pentium 500MHz
Sever <«
Host PCO0 PCO1 PC15 SDRAM 512MB
HDD 6.4GB
Ethernet Switch
100MBit/sec
80u sec




PC OS
SCore 5.2.0
PC

and space science

Redhat Linux 7.3

Beowulf

PC

1994

NASA Earth

CESDIS Center of Excellense in Space Data and

Informantion Scienses PC
Beowulf TCP/IP
TCP/IP
PC
SCore RWCP
SCore
Application
I
MPC++
SCASH MPICH-SCore -
>
- (]
SCore-D Global Operating System -
g
-
PM
PM/Shmem PM/Myrinet | PM/Ethrtnet PM/UDP
PM/Shmem PM/Myrinet PM/Ethernet Linux
yn Socket 5
driver driver driver §
UDP/IP E
S
Ehernet driver
Myrinet NIC Ethernet NIC %
—
PM firmware %

2 SCore



SCore
PM

SCASH

2.3.

OpenMP

PM API

Myrinet Ethernet UDP Shmem PM
SCore-D
PM SCore-D
SMP
PC
DSM Distributed Shared Memory
PVM MPI

1 PVM Parallel Virtual Machine

PVM

Machine
PVM

PVM

PVM
PVM

PVM

PVM Parallel Virtual

UNIX

PVM

PVM



PVM

PVM
PVM

UNIX PVM

PVM PVM

PVM
(3]
2 MPI Message Passing Interface
MPI  Message Passing Interface 1992
MPI Forum
API
1994 MPI1.0 1/0 1
MPI2.0 1997 MPI
PVM
[4][11]

2.3. OpenMP
2.3.1. OpenMP

OpenMP 1997 OpenMP Arehiteture Review Board Fortran

API

C/C++ API OpenMP  Fortran C/C++
OpenMP

OpenMP PVM MPI fork-join

OpenMP
OpenMP Master

Slave



[2]

3 fork-join



%+(u-v)u:—Vp+RiVu+ i

Re

3.1

Re

3.1



Yo,

3.2.
3.1
L
f
Ni
M
L
3.3
1
3.5

Re:& 3.2

[10]

[10]

Lu=f

3.3

M
ux > Niu = Nyu; + Nyu, +-+ Ny uy,
i=1

3.4
ul’uz,...’uM 1

(K1 oy f= 1) L] =12 M

3.3

3.4

3.5



5 element

3.5

10




3.3.

2
[3]
3.3.1.
_ _ . ou,
% Ui%=—@+i 0 au' 4+ 3.6
ot OX; ox. Reox;|ox; 0X
Mo 37
OX;
[ u p
X, (xj,j:l,z) t Re
3.3.2.
_n+l _ _n _n n+l _n Gun
u, u, +u?au, :_ap +i 0 | ou Lo 38
At OX; ox,  Reox; | ox; 0x
n+l
Mo 3.9
0X;
G
_ n n aufﬂ
U =u— At u?au' _1ofou +— 3.10
ox; Reodx; | ox; 0x
- - 1(ou . Ou ~
U = U |t N =t 311
Rel ox; 0x
n 3.8

3.9

11



ox> At ox
. R a n+ R
n+l — p p — qi
on,
38 3.10 u™t
_ a n+l
uir‘l+l — ui — At p
OX;
3.12 pt 3.10
u
u
ICCG
1
n+1 ~
u
l P A 4

n+1

12

n+l

3.12

3.13

3.14

c



— At A
12

3.10 3.12 3.14 3
A
1 (X, Yy)
(X3,Y3) 3 2 (%, Y,)
7
=—[x V)X, (Ve =¥+ x (v -y, )]
1
b =Z(yj ~Y)
ihk,j 1,23
- (x,~x,)
a'l _Z Xk j
3.10
X
1 u 1 u!
A 1 Gl A 1 u1n
3 203 2
1]lu, 1)|ug
2 1 1|uf
LA
(bu, +bu, +bu,)-|1 2 1)U} +E(c1u1+czu2+c3u3)-
1 1 2|u;
1 bf bb, bb, |[u] bc, bec, b,
+—|2Albb, bbb, fu)+A/bc bec, b,
b3b1 b3b2 bf)? ug b3cl b3C2 b3c3

13

B oR N

n

Vl
n
V2

n

V3

BN P

N PR

3.15

3.16

N<: '—‘<:

=}

=

3.17



1 Vl 1 Vl
Al JgtzAl e
3 23 ;
1|V, 1]V,
N 2 1 1|uf
— At E(blu1 +bu, +bu,)-[1 2 1]uj +1A2(C1U1 +C,U, + Csus)'
1 1 2|u;
cby cb, cby {juf C12 GG GG
+—| A C2b1 Czbz Czbs u; +2A| C,¢ CZ2 C,Cq
cb, cb, cjb, ||ug G CC, G
3.12
b +c.  bb,+cc, bb,+cc, |[p
Albb +c,c,  bi+c;  bby+c,c [Py
bb +c,c, bb,+c,c, bZ+ci || pyt
=—gal B 2 BpEta oG
b, b, blT) |o ¢
3.14
I 1 X
1 un+l 1 G b b
A jr-1+l A ~1 A bl 2 3
f— 1 u, =— 1 u, - At— b1 b2 b3
3 n+1 3 (1 3
i 2y
1 Vn+l 1 \7 C C C
A ]r.1+l A ~1 A 1 2 3
EI R S e
1 V3 1 V3 Cl C2 C3

14

2 1 1|}V

1 2 1KV,

11 A

v

A 3.18

A

v;

\Z 3.19
3

pjr-Hl

pytt 3.20
ps*

p]r.1+l

p,tt 321
ps™



3.3.3.

8
8 4 2
i iii
K @y - e
g
@ K kG (R
o K KE [l - o2
] N
e e
K(e) u(e) e

15



KO KO KO Mu®) (g

13 . i i
i Kl Kl | [r
K§ KG K ul || R
< kg kg ue] [Re
i kD[] R
i KE KE K P [FP
uY=u , u®=uy,
ui(il) =u, , ui(iZ) =U, 3.24
ui(i?) =U; ui(iiZ) = Uz
=
©
F _
Fii(il) + Fi(Z) = F
S0, e - F 3.25
i thH T 3
Fii(iZ) = F
3.24 3.25
) [1 ]
ul? 1
u 1 N
u,
R S 326
u®? 1 U
e |
u? ) | 1]

16



F®
. e
! =& F
1 : 1 iii F2
. cee = F 327
1 1 E® 3
Ul F
F?
3.26 3.27 3.23
QKK w) (R
K KE K KK K ||
© © () @ (2) (2) = 3.28
K21 K23 + K21 K22 + K22 K23 u3 F3
K K2  k@||lu] |F
3.3.4. 1
1
1 1
1
ICCG
3.3.5.
CG
1
Ax=b 3.29
A X b CG
3.56
A n

17



F(x)=(x,Ax)—2(x,b)

(x,b) x,b A
n 2 A
STF: 3 {(akj +ajk)xj —ZbK}:ZZn:(akj —bk):O
k=L j=1
3.29
X
Xo

Xy = X t o, Py

P Xy o, Py
h=0

F(x+h)=(x+h,A(x+h))-2(x+h,b)

= F(x)+(h,Ah)=2(h,b — Ax)

3.32 3.30 F(x)

a,

F(Xk+l): (Xk +akpk’A(Xk +akpk))_ 2(Xk +akpk'b)

= F(Xk)+ak2(pk1Apk)_2ak(pk1rk)

r.k Xk
r, =b—Ax,
oF 10a, =0 a,
o = P
=
(pk’Apk)
k P Tk
Py =T + BiaPra

Py (pk’Apk—l):O By

(rk+l’Apk)

A= o0 Apy)

i. k=0 Xo
r, =b—AXx, Po =",

(Py.1)
(P, AP,)

o = X1 = Xy Py

18

3.30

3.32

3.33
p, =0

3.34

3.35

3.36

3.37

3.38

e =T — APy



i el b, <

(e, APy)
Be=—F——+ Py =N + 5P
k (pk,Apk) k+1 k+1 k Mk
ivv. k=k+1 i
I,
1
n ) 2
=301
=
1 CG
CG n n
335 LU LDL"
LU
LDL' CcG
3.56 A L U
A=LU L=(I;,) u=(u,) 3.40
IIj Ui
it . .
lij:aij_zlikukj ('21)
k=1
i—1
(aij _zlikukjj
U = "|=1 (i<j) 3.41
A LU A
LU LDL"
LDL" LU L
U LT

19



i-1
dii :a'ii_zlizkdkk (i:LZ,...,n)
k=1

j-1
(aij _zlikljkdii]
= k=1 3.42
dij
LDL'
Lz=b
DL™x =z 3.43
2
3.3.6.
CG A
A 1
1 1 CG
CG
CG
3.29
A LDLT
Ax=LDLT 3.44
|
1)
0 A 0 i,
0 D
Dl/2
LYO
LDL" =LD{LD2J 3.45
A LD1/2
N1 N INT !
(LDZ] A[(LDZJJ (LDZJ x=(LD2] b 3.46
LDLT A

20



ICCG

3.3.7.

B:(LDzyA[(LDz]TJl

B
1 CG
1 CG
ICCG
CG ICCG
i. k=0 Xo
r, =b—Ax, q= (L DL’ )7er P, =0
ii.
z=(@r) da=Ap,
L (rk,(LDLT)‘lrk)= z,
“ (PoAp)  (p.0)
Xy = X t o, Py M =T — APy
. 0], < 2
q= (LDLT )7lrk+1 Z, = (rk+l CI)
ﬂ __(rk+l1(LDLT)7lrk+l):é
‘ p.LOL") ') =
Pra = (LDLT )7lrk+1 + B P =d+ BPy
iv. k=k+1 i
LDL™ A q=(LDL)™r,

21



Ly=r,

DLqu =y
ICCG
3 10
3.4.
34.1
8 8
2
| h | h/l 0.281

22

3.48

3.49

CG




3.4.2.

2
2 Xy
(0,0) 40 X
y
y
A
(- 100,100) (100,100)
R :
—+» t=0 t= |
—=—> u =(0,0) u =(0,0) :
1y / \ |
| |
—> | X
I T >
- \J |
—+» |
_ | |
O t=0 t=o0 |
15 |
| u =(0,0) u=(0,0) I
—+> |
(- 100,- 100) (100,- 100)
10
9
X (1,0)
t=0 (0,0)
5 0.01 500
10 X>0

23



1 771

2

_._.-T'._I__,1 A
B
DRI

L

X

=
=
e

o
e

ST TN

450 Hz

11
3.5.
PC cru Inted® Pentium®4 2.54GHz
DirectRDRAM 15GB OS Redhat7.3 cpu Intd® Pentium®
SDRAM512GB OS Redhat7.3 100
2
500 5.000000 100.000000
1 1.000000e+00  0.000000e+00  -7.208854e-01
2 1.000000e+00  0.000000e+00  3.022333e-01
3 1.000000e+00  0.000000e+00  1.353089e-01
4 1.000000e+00  0.000000e+00  -2.811391e-01
f 1.000000e+00  0.000000e+00  5.776171e-01
X Yy
12 771 1381

24



1 31.259 1 60.222
2 40.191 2 81971
3.6.
9 2
PC
4.
4.1.
3.
4.2.
i+1 i

11
11

n+1

25




start

)
~———

PC
11

PC 11

26




a

a

a

14

PC4

PC5
OpenMP

SCore

OpenMP

PC

SCore

PC

PC

12

12

PC

PC

27



|
|
0 U 0 |
|
|
|
E
pn+l
u
pn+1
A 4
_______ -4-----—t+-r--——————————————————F-———q
i v i v £ |
n+1 n+l n+1 |
u u u |
|
|
|
l un+l
15
4.3.
1 1375 2530 2 2343 4404 3 3372
6399 4 5335 10241 5 10243 19885
001 1
5
3

28

3 #pragma omp for

16



1 2 4 8 16
1375 2530 0.00686 | 0.00660 | 0.00485 | 0.00480 | 0.00506
2343 4404 0.01199 | 0.01076 | 0.00721 | 0.00623 | 0.00590
3372 6399 0.01757 | 0.01340 | 0.00906 | 0.00681 | 0.00623
5335 10241 0.02818 | 0.01627 | 0.01014 | 0.00750 | 0.00671
10243 19885 0.05470 | 0.02921 | 0.01609 | 0.01066 | 0.00907
4
1 2 4 8 16
1375 2530 0.3269 0.3283 0.3272 0.3382 0.3478
2343 4404 0.6533 0.6537 0.6657 0.6806 0.6883
3372 6399 0.9772 0.9853 1.0009 1.0061 1.0214
5335 10241 1.6125 1.6303 1.6611 1.6833 44454
10243 19885 3.2885 3.3480 3.3860 3.4007 3.4078
10

—e— 1375 2530

—m— 2343 4404

3372 6399
5335 10241

—%— 10243 19885
1

29




4.4

ICCG

ICCG

[13]

16

30

ICCG

OpenMP

MPS



31



[1]PC Cluster Consortium http://www.pccluster.org/
[2]1 R. Chandra, L. Fagum, D. Kohr, D. Maydan, J. McDonald, R. Menon:"Parallel
Programming in OpenMP", MORGAN KAUFMANN PUBLISHERS, 2000.

[31 , , 2 " bit
,1999
[4] , o7 Linux ", ,2002.
[5] "
" ,1998.
[6] ;" Frotran77 ", ,1987.
[7] PC
2002
[8] PC OpenMP
2002
[9] OpenMP
2000
[10] “ ” 2001
[11] “ PC 2000" PC
2000
[12] “ " JSPP2002
2002
[13] “ 7 8 2002

32



Al

3.10 3.12 3.14

u p
v , nooou?
Iu U,dQ = Iu u"dQ — Atj ”au' dQ—i u; 0 | +—L1dQ Al
8x] Re’@ = ox; | oX;  0x
N J
Y
2 n+l ~
j p 8 1J' p*%dQ A2
Atde " ox
~ J
n+l * 8pnﬂ
juu dQ = J.uudQ AtJ'u dQ A3

Al A2 2

e , ou’
Lzu,udQ:J'Qu,u,”dQAt{ u uf ﬂdQ—i u.(au —‘}n.dl“

b ox Re’r ' ox, ox | '
— ~— _/
0( )
noooul?
2 ou, [ ou +—> |dQ A4
Re 20X | 0%  OX
n+l n+l T
[ p P ndr— j‘ap %P dg_ij o Mo A5
roox QOx  OX AtJe " ox;
~ Y
0( )
[.()dr Q r ()

33



. N . " “(ou" ou’
Iui uidQ:j u; udQ — At j uiu;‘éidQ Lpou (au, + ‘Jdg} A.6
Q Q Q

_|__
OX; Re“2ox, | ox;  0x
* n+1 I~y
Iﬁi_ap do=—2[ p M go AT
Q0X  OX AtFe " Ox;
R . . op™t
I u; u, dQ=_|. U; uidQ—Atj u; dQ A8
Q Q Q 5Xi
A.2.
Q. Q
Qe
1
1 (%, W)
(X5, Y3) 3
o 2 (%.Y,)
Al
5 3
i/ 2
Xy 1
¢:771+772X+773y A9
n 1=13 3 ¢ 9
G =1+ 10X 115,
Py =Ny +11,%, +173Y, A10
Py =10, + 1% + 17155
n, i=1 3

34



M =ap + 8P, + 3P,
n, =bé +b,p, + by,

n; = C1¢1 + Cz¢2 + C3¢3

8 == (X, ~ %)
2A
1
b=y, - %) ik 123
1
a'l:Z(Xk J)
A
:_[X yk + X; y _yi)+xk(yi_yj)]
¢:N1¢1+N2¢2+N3¢3
Ni
N, =a, +bx+cy
N, =a, +b,Xx+cC,y
N, =a, +b,x+cC,y
A.3.
A.6 A.8
u, p 1
q:NaGai
u=N,u, I 12 o 1 3
p=N,p,
0 u op
I 2
3 a
U p

35

All

A12

A.13

A.l4

A.15

c

A.16



i 1,2 a 1 3 } Al7

ul
ou oON ola, +b x+c
x axa te = e 8ax ay)u“ =b,u, =(bb,by) 32
3
oN o(a, +b .
X _ N, v, = (a, +b,x+c, y)va =C,V, =(CC,C 13V, A.18
oxX oy oy v
3

Jo, NN, = [ N, N, douy, AtDQENaN ZNy dQus,u”,

7

N, 6N N, ON
s 20 Ny g uj; + N, By douj, ¢ | A19
Re |72 8x 6x Q. axj OX;
ON ON -
N, Ny dQp™t = 1 —2dOi), A.20

2 ox  OX AT At oy,

j N, N,dQuj™ = J’ N N dOT —Atj N, oN —Zdop™  A21
o, a' “p Bi o, a p .

o 1
_ n n n
Maﬂ_Maﬂuﬂi—At[Kaﬂ”uﬂj+?e8aiﬂjuﬁj} A.22
" 1
a|ﬂ| p;l__A_tHaﬂiuﬂi A.23
n+l g n+1
Maﬂuﬁ _Maﬁuﬂi—AtHaﬁlpﬁ A.24

36



N}’ n
M., —LNaNﬂdQ Kapr = [, NaNs dou’,
/4
0N, N, oN, N,
s =, Q-5 +| —2.d0
e X, OX, e OX; OX
oN oN
Aus =] N T 4o Hop=[ N,—2dQ
Qe OX  OX Qe OX;
3.36 3.38
M,, M,,
A4,
A2
1 Xy Al A,
3 (% ys)
1
X
( 1 yl) 2 (XzaY2)
A2
A
A A A
églzf 982:?2 Qgszf
Xy
A, 1
leX:Z{X2YZ_X3y2+X(yz_Y3)+y(X3_X2)}
=a +bx+cy

37

A.25



flacre oy -2,

M., :jﬁe N_N deQe{

|

&
52 fl
53 fl

S =a +hx+cy
52 =4, +b2X+C2y

&3 =a; +hx+Cyy

G152
&
S3S2

Nl
N,
N

153
$263
&

38

S
%N1N2N3>dQ = '[Qe {52

-

A.12
§1+§2+§3:1
N, 3.29
[Tmin! A
| +m+n+2)!
bl é:l Cl
0
= bz 5 952 =136C,
b3 53 C3

Ss

211
1 21
11 2

}<§1§2§3>dﬂ

|

A.26

A.27

A.28

A.29



apyi

8N le N1N2 N1N3
Kopn = j N,N, 8)(7 dQu;:(blu1+b2u2+b3u3)-IQe N,N, N2 N,N, [dQ
N3Nl NSNZ NB?

2 11
:%(blu1+b2u2+b3u3)- 121
1 1 2
N 211
Koz = I N, N, deu;‘:A(clul+c2u2+csu3)- 121
OX 12 11 2
2.y
N A 2 11
Kopp = j N,N, X7 dQu;‘:E(blv1+b2v2+b3v3)- 121
112
A 2 11
Kopz = J’ N,N, —2dOu" = (e, +C,V, +Cv5)- (1 2 1
OX 12 11 2
Saipi
1 X
: b b
aNa aNﬁ aN 8 p bl b122 bl 3
1 = —L j— dQ=2Albb b2 bb,
Q. OX OX % OX OX bb bb, b?
3 32 3
N, bc, be, b
Ny
aas2 = |, o & dQ = Al b,c, b,c, b,c,

b,c, bic, by,

39



N ON cb cb, cb,
o« YNB

Suzp1 :.[Qe oy WdQ:A G Gy
C3bl C3b2 C3b3

c? c¢c, ccC
N oN N ON 1 12 Lbg
& 5ty g e nes o o

CS Cl CS CZ C§

Sazﬁz = IQ

4 Aaiﬂj
Aaiﬁj = Aa1ﬁ1+Aa2ﬂ2
ON_ ON ON_ oN b’ bb, b, @ oG
:.[Q 6—a8_ﬁdQ+J-Q e~ Fdn=A b,b, b22 b,b; |+ Al c,C, (:"22
e OX X e
&y o b, bb, b2 | |cc c
5 H.p
I 1 X

b, b

L

Ham:J. N,——dQ=—\b b, b,

X b, b, b

b s

I 2y

aNﬂd A ¢ G G

H — N —2dQ=— C C

apf? o, a ay 3 : C2 CS

2 U3

Maﬂ Ma/)’
M

aff

40



<

ap

A.22 A.24

A.22
i 1 X

- — 1
M, U, = Maﬂu; —At{Kaﬂylu; + Kaﬂyzv;} +?e(salﬂluﬂ +S,,,,V )}

1 U, 1 uy
A 1 u, :é 1 uy
3 2[73 g
1|y, 1|y
2 1 1|y 2 1 1|}/
— At 1A(b1u1+b u, +bu,)- |1 2 1] up +1A2(c1u1+czu2+c3u3)- 1 2 14v
1 1 2||u; 1 1 2§|v;
1 b’ bb, bc, be, be, ||V
+—| 2A|b,b, b2 +Alb,c, b, by, (V) A.30
b,b, b;b, b,c, bic, by, ||Vvs

- 1
MV, = Maﬂv; —At{Kaﬂﬂu; + Kaﬂyzv; +Ee(s"2ﬂluﬂ +S,,,,V )}

L L

41



A ~ A
= 1 V,r=—| 1 Vi
3 213 ;
1|V, 11|vs
A 2 1 1]y 2 1 1w
— At E(b1u1+b2u2+b3u3)- 1 2 18Ul +1A2(c1u1+czu2+c3u3)- 1 2 11v;
1 1 2||u; 111 A
1 Clbl Cle Clb3 u{] Cl2 ClCZ ClC3 Vln
t s Alc,b c,b, cb, Ku)t+2A/c,c;, C c,C KV) A.31
C3b1 C3b2 C3b3 ug C3cl C3C2 C32 Vg

A.23

(Aalﬂl + AaZﬂZ)p?;l = _Ait(Haﬂlﬁﬂ + HaﬁZVﬂ)

n+1

2 2
b™+c; bb,+cc, bb,+cc, || p;
Albb +c,c, bZ+c?  bb,+c,c |3 it
n+1

bo, +c,c, b, +cc, bZ+c? o

_~

1A b1 bz bs U, ¢ C G|V,
:_Eg b1 bz ba U, +/CG C, G [V, A.32
bl bz b3 U, G G G 3
A.24
I 1 X
N n+l N n+l
Maﬂuﬂ :Maﬁuﬂ—AtHaﬂlpﬂ
n+l ~ n+l
A 1 ul A 1 ul A bl b2 3 pl
= 1 utt==| 1 U,r—At=|b, b, b,{p;*+ AS33
3 n+1 3 ~ 3 n+1
1 u3 1 u3 bl b2 b3 p3
i 2y

42



43



1

/*****************************************************************************

* step01()

*

* nx

* mx

* flow : U,V ( )

* flowl : ( )
*amb

* nodec

* bb : X)
*cc : )
* area

* area3, areal? : area/3, area/l2

* delt

* reiv

xxxxxxxxxxxxxx

void step01(int nx, int mx, double delt, double reiv, double *result)
{

inti,j,ie;

double start, end;

long double ss;

for(i = 1; i <= nx; i++){
flow2[i][1] = O;
flow2[i][2] = 0;

#pragma omp parallel

{
inti,j, ii, i1,i2, i3;
int ID = omp_get_thread_num();
long double x1, x2, x3, y1, y2, y3;

44



long double mmm1, mmm2, mmma3, nnnl, nnn2, nnn3;
long double a;

long double a01, al2, bb1l, bb2, bb3, ccl, cc2, cc3;

long double uul, uu2, uu3, vvi, w2, w3,

long double ul123, v123, bu, by, cu, cv;

long double ukkl, ukk2, ukk3, vkkl, vkk2, vkk3;

long double avis;

long double cbuyv, ussl, uss2, uss3, vssl, vss2, vss3;
long double temp[16][MD1][2];

if(ID == 0)

start = seconds();
#pragma omp for

for(ie = 1; ie <= mx; ie++){
il = nodcl[ie][1];
i2 = nodclie][2];
i3 = nodclie][3];
x1 = (long double)element[il][1];
x2 = (long double)element[i2][1];
x3 = (long double)element[i3][1];
y1 = (long double)element[il][2];
y2 = (long double)element[i2][2];
y3 = (long double)element[i3][2];

a =x1*(y2-y3) + x2*(y3 - y1) + x3*(y1 - y2);

a0l=a/?2;

al2 =a01/12;
a=1.0/a

bbl = (y2 - y3)*a;
bb2 = (y3 - yl)*a;
bb3 = (y1 - y2)*a;
ccl = (X3 - x2)*a;
cc2 = (X1 - x3)*a;
cc3 = (X2 - x1)*a;

uul = flow1[i1][1];
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uu2 = flowl[i2][1];
uu3 = flow1[i3][1];
wvl = flowl[il][2];
w2 = flowl[i2][2];
wv3 = flowl][i3][2];

I* */

ul23 = uul + uu2 + uu3;

v123 = vwvl + w2 + w3;

bu = bb1*uul + bb2*uu2 + bb3*uu3;

bv = bbl*vv1l + bb2*vv2 + bb3*vv3;

cu = ccl*uul + cc2*uu2 + cc3*uu3;

cv = ccl*vvl + cc2*vv2 + cc3*vv3;
mmml = ul23 + uul;

mmm2 = ul23 + uu?2;

mmm3 = ul23 + uu3;

nnnl =v123 + vvi;

nnn2 = v123 + w2;

nnn3 =v123 + vwv3;

ukkl = (bu*(mmm1l) + cu*(nnnl)) * al2;
ukk2 = (bu*(mmm2) + cu*(nnn2)) * al2;
ukk3 = (bu*(mmm3) + cu*(nnn3)) * al2;
vkkl = (bv*(mmm1l) + cv*(nnnl)) * al2;
vkk2 = (bv*(mmm?2) + cv*(nnn2)) * al2;
vkk3 = (bv*(mmma3) + cv*(nnn3)) * al2;

I* */

avis = a0l * reiv;

cbuv = cu + bv;

mmml =2 * bbl * bu + ccl * chuv;
mmm2 = 2 * bb2 * bu + cc2 * chuv;
mmm3 = 2 * bb3 * bu + ¢c3 * chuv;
nnnl =2 *ccl *cv + bbl * cbuv;
nnNN2 =2 * cc2 * cv + bb2 * cbuv;
nnNnN3 =2 * cc3 * cv + bb3 * cbuv;

ussl = mmm1l * avis;
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uss2 = mmma2 * avis;
uss3 = mmma3 * avis;
vssl = nnnl * avis;
VSS2 = Nnnn2 * avis;

VvssS3 = nnn3 * avis;

mmm1l = ukkl + ussl;
mmm2 = ukk?2 + uss2;
mmm3 = ukk3 + uss3;
nnnl = vkk1 + vssi;
nnn2 = vkk2 + vss2;

nnn3 = vkk3 + vss3;

I* */
temp[ID][i1][1] += mmm1;
temp[ID][i2][1] += mmm2;
temp[ID][i3][1] += mmm3;
temp[ID][i1][2] += nnnl;
temp[ID][i2][2] += nnn2;
temp[ID][i3][2] += nnn3;

}

if(ID == 0)

end = seconds();

#pragma omp for
for(ie = 1; ie <= nx; ie++){
flow2[ie][1] += temp[ID][ie][1];
flow2[ie][2] += temp][ID][ie][2];

*result += (end - start);

I* */

for(i = 1; i <= nx; i++){
ss = ambli] * (long double)delt;
flow2[i][1] = flow1][i][1] - flow2[i][1] * sS;
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}

}

flow2[i][2] = flow1[i][2] - flow2[i][2] * ss;
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